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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
JEK R
= 1 146, 116, 637
ER LT
= 1 103, 451, 310
PRI T
= 1 30, 693, 520
E7dell +Hp
m3 30, 800 224.4 6,911, 520
E7dell [/ee]
m3 47, 000 297.3 13,973, 100
FEA (V-27) +Hp
m3 47, 000 208.7 9, 808, 900
HEi L (1CT)
= 1 3, 086, 520
I (ICT) +H
m3 10, 200 302. 6 3, 086, 520
R FEIE T (CT)
= 1 3, 946, 605
EiEFETE () 1350) (ICT) +H
m2 1, 650 772.1 1,273, 965
REFETE () 1350) (ICT) AT
m2 2, 880 928 2,672, 640
Fe AL T
= 1 65, 724, 665
i T
= 1 21, 440, 320
AT
= 1 21, 440, 320
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NAWA

i

£

THEXy « T - FER - 5 pso) FREAL K B G EHAm & M| TE (B ESM)
AR FERA IR A t=5cm
m2 2, 760 5, 272 14, 550, 720
AR FERF R A t=3cm
m2 1, 600 4, 306 6, 889, 600
HEkHEEY 1
= 1 7,526, 240
HEKT
= 1 7,526, 240
KH-1-2
m 400 11, 266 4, 506, 400
157N K
m 160 18, 874 3,019, 840
HEE
= 1 11, 310, 000
e B LT
= 1 6, 942, 000
/) ) -MEIEBUE L ARG S
m3 1, 000 6, 942 6, 942, 000
TEHR LB T
= 1 4, 368, 000
PRauRiiig av)Y)=hik (IE57)
m3 1, 000 1,802 1, 802, 000
ALy av)Y)=hik (IE57)
m3 1, 000 2, 566 2, 566, 000
G an
= 1 2,388, 767
RmE T
= 1 2,388, 767
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
[ERE N
= 1 146, 116, 637
I L
= 1 34, 654, 869
IR
= 1 18, 865, 961
TR
= 1 1, 872, 663
TR AR T W3 S
= 1 1, 872, 663
el E
= 1 15, 029, 102
%25 9, 700m2
= 1 7, 338, 050
AR T
= 1 7,691, 052
et By
= 1 672, 799
JE R REFEART e
= 1 53,512
PR5FE B (ICT)
= 1 75, 062
VAT (ICT)
= 1 544, 225
BIGREsET (K30
= 1 1, 291, 397
HIBGERE (FE L)
= 1 15, 788, 908

-3- [ Lz TR R




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Wi
= 1 180, 771, 506
B
= 1 56, 875, 200
T AT
= 1 237, 646, 706
— R
= 1 35, 303, 294
TS
= 1 272, 950, 000
THEBLFH Y %H
= 1 27, 295, 000
TH#&G
= 1 300, 245, 000
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